	on County Public Sch	ools													
Bid Tabula															
	e: Gases, Industrial/Welding & Supp	olies													
Event ID: J	Oate: November 14, 2023		1												
	Received: October 17, 2023														
	eriod: December 9, 2023 through D	ecember 8, 2024													
	No renewal option	·													
Comments	: Award Status indcates an award														
Item						Purchase			Item Manufacturer & Part		Extended Rid	Vendor Response Item			
Number	Item/Service	Description	Commodity Code	Vendor	No Bid		Quantity	Mfg/Provider	Number	Bid Price	Price	Notes	Supplier Notes	Award Status	Award Notes
1	Electrode, 1/8" E7018, 50 lbs.	Lincoln #ED028281 or equal.	9100090-2013113	Southern Tool Supply	Yes										
1	Electrode, 1/8" E7018, 50 lbs.	Lincoln #ED028281 or equal.	9100090-2013113	Welders Supply Company of Louisville, Inc.	Yes										
				Louisville, Iric.											
1	Electrode, 1/8" E7018, 50 lbs.	Lincoln #ED028281 or equal.	9100090-2013113	Holston Gases	No	1 Each	1	Lincoln	Lincoln Same as current	\$3.0700	\$3.0700		Lincoln and Harris have education discount programs. I can help get you setup if you want to take advantage of them.	Awarded	
2	Flux, soldering. 4 oz. paste.	Harris #SCPF4 or equal.	9100210-1165742	Southern Tool Supply	Yes								alon.		
2	Flux, soldering. 4 oz. paste.	Harris #SCPF4 or equal.	9100210-1165742	Welders Supply Company of Louisville, Inc.	Yes										
2	Flux, soldering. 4 oz. paste.	Harris #SCPF4 or equal.	9100210-1165742	Holston Gases	No	1 Each	20	Harris	Harris Same as current	\$3.1300	\$62.6000			Awarded	
3	Gas, Mapp 14.1 oz. throw-a-way	Bernzomatic #MG9 or equal.	4500450-2002610	Welders Supply Company of	Yes									Awarueu	
	(Thin type cylinder only).			Louisville, Inc.						*****					
3	Gas, Mapp 14.1 oz. throw-a-way (Thin type cylinder only).	Bernzomatic #MG9 or equal.	4500450-2002610	Southern Tool Supply	No	1 Each	30	BERNZOMATIC	BERNZOMATIC 8069049	\$9.6400	\$289.2000	2% 30 DAYS		Awarded	
3	Gas, Mapp 14.1 oz. throw-a-way (Thin type cylinder only).	Bernzomatic #MG9 or equal.	4500450-2002610	Holston Gases	No	1 Each	30	Bernzomatic	Bernzomatic Same as current	\$10.2200	\$306.6000				
4	Propane, 14 oz. throw-a-way (Thin type cylinder only).	Bernzomatic #TX9 or equal.	4500450-1247583	Welders Supply Company of Louisville, Inc.	Yes										
4	Propane, 14 oz. throw-a-way (Thin type cylinder only).	Bernzomatic #TX9 or equal.	4500450-1247583	Holston Gases	No	1 Each	20	Bernzomatic	Bernzomatic Same as current	\$4.9000	\$98.0000			Awarded	
4	Propane, 14 oz. throw-a-way (Thin type cylinder only).	Bernzomatic #TX9 or equal.	4500450-1247583	Southern Tool Supply	No	1 Each	20	BERNZOMATIC	BERNZOMATIC 9696238	\$5.8300	\$116.6000	2% 30 DAYS			
5	Solder, 100% lead free 1/8", 1-lb. roll.	Harris #BRGT61 or equal.	9100360-1690682	Southern Tool Supply	Yes										
5	Solder, 100% lead free 1/8", 1-lb. roll.	Harris #BRGT61 or equal.	9100360-1690682	Welders Supply Company of Louisville, Inc.	Yes										
5	Solder, 100% lead free 1/8", 1-lb. roll.	Harris #BRGT61 or equal.	9100360-1690682	Holston Gases	No	1 Each	20	Harris	Harris Same as current	\$22.9600	\$459.2000			Awarded	
6	Solder, silver cadmium free, 5 Troy oz., plastic container. 45% silver 1/16".	Harris #4535 or equal.	9100360-1690549	Southern Tool Supply	Yes										
6	Solder, silver cadmium free, 5 Troy oz., plastic container. 45% silver 1/16".	Harris #4535 or equal.	9100360-1690549	Welders Supply Company of Louisville, Inc.	Yes										
6	Solder, silver cadmium free, 5 Troy oz., plastic container. 45% silver 1/16".	Harris #4535 or equal.	9100360-1690549	Holston Gases	No	1 Each	1	Harris	Harris Same as current	\$91.8400	\$91.8400			Awarded	
7	Solder, wire, 50% tin, 50% lead, 1- lb roll, 1/8".	Harris #505061 or equal.	9100360-1313948	Southern Tool Supply	Yes										
7	Solder, wire, 50% tin, 50% lead, 1- lb roll, 1/8".	Harris #505061 or equal.	9100360-1313948	Welders Supply Company of Louisville, Inc.	Yes										
7	Solder, wire, 50% tin, 50% lead, 1- lb roll, 1/8".	Harris #505061 or equal.	9100360-1313948	Holston Gases	No	1 Each	1	Harris	Harris Same as current	\$16.7600	\$16.7600			Awarded	
ь	i .		1	i			1	1	1			1			

8	Torch, high intensity, trigger start, adjustable flame control.	Bernzomatic #TS8000 or equal.	9100570-1654079	Welders Supply Company of Louisville, Inc.	Yes									
8	Torch, high intensity, trigger start, adjustable flame control.	Bernzomatic #TS8000 or equal.	9100570-1654079	Southern Tool Supply	No	1 Each	30	BERNZOMATIC	BERNZOMATIC 5199476	\$51.5400	\$1,546.2000	2% 30 DAYS		
8	Torch, high intensity, trigger start,	Bernzomatic #TS8000 or equal.	9100570-1654079	Holston Gases	No	1 Each	30	Bernzomatic	Bernzomatic Same as	\$62.3700	\$1,871.1000		Awarded	
8	adjustable flame control.	Demzomanc #156000 or equal.	9100570-1054079	noistori Gases	NO	i Each	30	Bernzomatic	current	\$62.3700	\$1,871.1000			
Lot Item Number 9						Purchase			Item Manufacturer & Part		Extended Rid	Vendor Response Item		
26	Item/Service Acetylene. (Price per cu. ft.)	Description	Commodity Code 4600075-1723103	Vendor Southern Tool Supply	No Bid Yes	Unit	Quantity	Mfg/Provider	Number	Bid Price	Price	Notes Supplier Notes	Award Status	Award Notes
10	(Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500050-1006422	Southern Tool Supply	Yes									
11	(Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500050-1006413	Southern Tool Supply	Yes									
12	Argon. (Price per cu. ft.)		4600075-1723104	Southern Tool Supply	Yes									
13	Argon and Carbon Dioxide Mix, 75% Argon - 25% Carbon Dioxide. (Price per cu. ft.)		4600075-1723105	Southern Tool Supply	Yes									
14	75% Argon - 25% Carbon Dioxide.	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500125-1717308	Southern Tool Supply	Yes									
15	Carbon Dioxide (CO2). (Price per pound.)		4600075-1723106	Southern Tool Supply	Yes									
16	per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500150-1538992	Southern Tool Supply	Yes									
17	Carbon Dioxide (CO2). 10 lb. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500150-1110872	Southern Tool Supply	Yes									
18	per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500150-1110881	Southern Tool Supply	Yes									
19	Nitrogen. With oil pump or water pump. (Price per cu. ft.)		4600075-1723107	Southern Tool Supply	Yes									
20	Oxygen. (Price per cu. ft.)		4600075-1723108	Southern Tool Supply	Yes									
21	(Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500400-1133919	Southern Tool Supply	Yes									
22	(Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500400-1187148	Southern Tool Supply	Yes									
23	Propane. (Price per pound.)		4600075-1574210	Southern Tool Supply	Yes									
24	(Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500450-1247574	Southern Tool Supply	Yes									
25	cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500450-1079676	Southern Tool Supply	Yes									
26		Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500450-1146736	Southern Tool Supply	Yes									

9	Acetylene. (Price per cu. ft.)	Price per cf	4600075-1723103	Holston Gases	No	1 Each	760	Holston Gases	SA	\$0.4450	\$338.2000		Rental: \$4.00/month DELIVERY IS \$29.95 PER DELIVERY (NOT CALCULATED BY THE NUMBER OF TANKS PER DELIVERY)		Reject - incomplete coverage for Lot Item Nos. 9 through 26.
10	Acetylene, B-40 cu. ft./cylinder. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500050-1006422	Holston Gases	No	1 Each	10	Holston Gases	BPOL	\$20.0000	\$200.0000		Rental: \$2.00/month		
11	Acetylene, MC-10 cu. ft./cylinder. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500050-1006413	Holston Gases	No	1 Each	20	Holston Gases	MC	\$14.2600	\$285.2000		Rental: \$2.00/month		
12	Argon. (Price per cu. ft.)	price per cf	4600075-1723104	Holston Gases	No	1 Each	2000	Holston Gases	LAR	\$0.0520	\$104.0000		Rental: \$4.00/month		
13	Argon and Carbon Dioxide Mix, 75% Argon - 25% Carbon Dioxide. (Price per cu. ft.)	price per cf	4600075-1723105	Holston Gases	No	1 Each	5000	Holston Gases	AG-25	\$0.0520	\$260.0000		Rental: \$4.00/month		
14	Argon and Carbon Dioxide Mix, 75% Argon - 25% Carbon Dioxide. 96 cu. ft. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500125-1717308	Holston Gases	No	1 Each	1	Holston Gases	QAG25	\$9.6300	\$9.6300		Rental: \$2.00/month		
15	Carbon Dioxide (CO2). (Price per pound.)	price per lb	4600075-1723106	Holston Gases	No	1 Pound	50	Holston Gases	50CD	\$0.2300	\$11.5000		Rental: \$4.00/month		
16	Carbon Dioxide (CO2). 20 lb. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500150-1538992	Holston Gases	No	1 Each	10	Holston Gases	20CD	\$9.0000	\$90.0000		Rental: \$2.00/month		
17	Carbon Dioxide (CO2). 10 lb. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500150-1110872	Holston Gases	No	1 Each	10	Holston Gases	10CD	\$8.0000	\$80.0000		Rental: \$2.00/month		
18	Carbon Dioxide (CO2). 5 lb. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500150-1110881	Holston Gases	No	1 Each	55	Holston Gases	5CD	\$7.0000	\$385.0000		Rental: \$2.00/month		
19	Nitrogen. With oil pump or water pump. (Price per cu. ft.)	price per cf	4600075-1723107	Holston Gases	No	1 Each	1800	Holston Gases	LN	\$0.0280	\$50.4000		Rental: \$4.00/month		
20	Oxygen. (Price per cu. ft.)	price per cf	4600075-1723108	Holston Gases	No	1 Each	7000	Holston Gases	LO	\$0.0260	\$182.0000		Rental: \$4.00/month		
21	Oxygen. 40 cu. ft. or comparable. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500400-1133919	Holston Gases	No	1 Each	5	Holston Gases	400	\$4.9000	\$24.5000		Rental: \$2.00/month		
22	Oxygen. 20 cu. ft. or comparable. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500400-1187148	Hoiston Gases	No	1 Each	15	Holston Gases	200	\$4.9000	\$73.5000		Rental: \$2.00/month		
23	Propane. (Price per pound.)		4600075-1574210	Hoiston Gases	Yes										
24	Propane, 34 lb. cylinder for forklift. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500450-1247574	Hoiston Gases	Yes										
25	Propane, 100 lb. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500450-1079676	Holston Gases	Yes										
26	Propane, 20 lb. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500450-1146736	Holston Gases	Yes										
9	Acetylene. (Price per cu. ft.)		4600075-1723103	Welders Supply Company of Louisville, Inc.	No	1 Each	760	Welders Supply Co of Louisville	ACX	\$0.2704	\$205.5000	Reference notes in attachments	NET 30	Awarded	
10	Acetylene, B-40 cu. ft./cylinder. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500050-1006422	Welders Supply Company of Louisville, Inc.	No	1 Each	10	Welders Supply Co of Louisville	ACB	\$15.5500	\$155.5000	Reference notes in attachments	NET 30	Awarded	
11	Acetylene, MC-10 cu. ft./cylinder. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500050-1006413	Welders Supply Company of Louisville, Inc.	No	1 Each	20	Welders Supply Co of Louisville	ACMC	\$10.9900	\$219.8000	Reference notes in attachments	NET 30	Awarded	

12	Argon. (Price per cu. ft.)		4600075-1723104	Welders Supply Company of Louisville, Inc.	No	1 Each	2000	Welders Supply Co of Louisville	ARGON	\$0.0600	\$120.0000	Reference notes in attachments	NET 30	Awarded	
13	Argon and Carbon Dioxide Mix, 75% Argon - 25% Carbon Dioxide. (Price per cu. ft.)		4600075-1723105	Welders Supply Company of Louisville, Inc.	No	1 Each	5000	Welders Supply Co of Louisville	AG25	\$0.0900	\$450.0000	Reference notes in attachments	NET 30	Awarded	
14	Argon and Carbon Dioxide Mix, 75% Argon - 25% Carbon Dioxide. 96 cu. ft. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500125-1717308	Welders Supply Company of Louisville, Inc.	No	1 Each	1	Welders Supply Co of Louisville	AG25100	\$12.3500	\$12.3500	Reference notes in attachments	NET 30	Awarded	
15	Carbon Dioxide (CO2). (Price per pound.)		4600075-1723106	Welders Supply Company of Louisville, Inc.	No	1 Pound	50	Welders Supply Co of Louisville	CO2	\$0.2200	\$11.0000	Reference notes in attachments	NET 30	Awarded	
16	Carbon Dioxide (CO2). 20 lb. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500150-1538992	Welders Supply Company of Louisville, Inc.	No	1 Each	10	Welders Supply Co of Louisville	CO220	\$6.7900	\$67.9000	Reference notes in attachments	NET 30	Awarded	
17	Carbon Dioxide (CO2). 10 lb. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500150-1110872	Welders Supply Company of Louisville, Inc.	No	1 Each	10	Welders Supply Co of Louisville	CO210	\$6.0900	\$60.9000	Reference notes in attachments	NET 30	Awarded	
18	Carbon Dioxide (CO2). 5 lb. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500150-1110881	Welders Supply Company of Louisville, Inc.	No	1 Each	55	Welders Supply Co of Louisville	CO25	\$5.7900	\$318.4500	Reference notes in attachments	NET 30	Awarded	
19	Nitrogen. With oil pump or water pump. (Price per cu. ft.)		4600075-1723107	Welders Supply Company of Louisville, Inc.	No	1 Each	1800	Welders Supply Co of Louisville	N2	\$0.0350	\$63.0000	Reference notes in attachments	NET 30	Awarded	
20	Oxygen. (Price per cu. ft.)		4600075-1723108	Welders Supply Company of Louisville, Inc.	No	1 Each	7000	Welders Supply Co of Louisville	02	\$0.0320	\$224.0000	Reference notes in attachments	NET 30	Awarded	
21	Oxygen. 40 cu. ft. or comparable. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500400-1133919	Welders Supply Company of Louisville, Inc.	No	1 Each	5	Welders Supply Co of Louisville	OX40	\$5.3500	\$26.7500	Reference notes in attachments	NET 30	Awarded	
22	Oxygen. 20 cu. ft. or comparable. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500400-1187148	Welders Supply Company of Louisville, Inc.	No	1 Each	15	Welders Supply Co of Louisville	OXR	\$5.2000	\$78.0000	Reference notes in attachments	NET 30	Awarded	
23	Propane. (Price per pound.)		4600075-1574210	Welders Supply Company of Louisville, Inc.	No	1 Pound	30	Welders Supply Co of Louisville	PROPANE	\$0.4700	\$14.1000	Reference notes in attachments	NET 30	Awarded	
24	Propane, 34 lb. cylinder for forklift. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500450-1247574	Welders Supply Company of Louisville, Inc.	No	1 Each	55	Welders Supply Co of Louisville	PR34RED	\$16.0000	\$880.0000	Reference notes in attachments	NET 30	Awarded	
25	Propane, 100 lb. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500450-1079676	Welders Supply Company of Louisville, Inc.	No	1 Each	4	Welders Supply Co of Louisville	PR100	\$59.0000	\$236.0000	Reference notes in attachments	NET 30	Awarded	
26	Propane, 20 lb. (Price per cylinder.)	Please respond to the following in the VENDOR RESPONSE ITEMS NOTES field: State cylinder size and demurrage charge.	4500450-1146736	Welders Supply Company of Louisville, Inc.	No	1 Each	18	Welders Supply Co of Louisville	PR20	\$11.0000	\$198.0000	Reference notes in attachments	NET 30	Awarded	

Vendor	Lot	Bid Amount	Award Amount
Holston Gases	Bid Items 1-8	\$2,909.17	\$731.47
Southern Tool Supply	Bid Items 1-8	\$1,952.00	\$1,835.40
Welders Supply Company of Louisville, Inc.	Lot Item Nos. 9-26	\$3,341.25	\$3,341.25